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1. Choose the correct answer.

Mike, do you ever gaze into ... space and
wonder if other life forms exist in ...
universe?
A) —/the
D) —/~
In order to solve this test, one should know
the use of articles. In this phrase, the word
space is used in the sense of universe
beyond the earth’s atmosphere. In this case,
this word is used without any article.

If it is about something which is unique such
as world, capital, moon, universe, the
definite article the is used before the noun.
Correct answer: A

Source: M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010

B) the/the C) the/—

. Choose the correct answer.
One can make a conclusion from this notice
that the administration of the zoo ...

NOTICE

PLEASE
DO NOT

FEED
THE
ANIMALS

|

A
B

) cares about the interest of visitors
)

C) cares about the health of animals
)

can’t feed the animals properly

D) tries to attract more people

It is a simple reading test. In order to do
this task, one should first read and
understand the notice, then find the logical
conclusion. The correct answer is C. The
administration doesn’t want anybody to
feed the animals because it may harm them.
Correct answer: C

3.

Look at the street map and choose the correct
answer.

— Excuse me, where is the gym?

— It is behind the bank which is opposite
the hospital.

Hospital

Republic street

1 2

3

Charles street
Dickens street

Barber
shop 4

Liberty street

A1 B)2 (C)3 D)4

In order to do this task, one should know
the use of prepositions of place.

Correct answer: C

Source: Lutfullo Jo‘rayev, Svetlana Xan
"New Fly High English 7-sinf uchun
darslik" "O‘ZBEKISTON" Toshkent—2019

. Choose the correct answer.

My shirt is less expensive than ...

A) her D) him
To solve this test, one must know the usage
of possessive adjectives and pronouns. As a
rule, one uses possessive adjectives before
nouns and possessive pronouns without
nouns. Possessive pronouns are used to
refer to a thing or things belonging to or
associated with the person or people that
the speaker is addressing. In this case, we
should use possessive pronoun yours.
Correct answer: B

Source: Lutfullo Jo‘rayev, Svetlana Xan
"New Fly High English 5-sinf uchun
darslik" "O‘QITUVCHI" Toshkent—2017;
M.G‘apporov, R.Qosimova "Ingliz tili
grammatikasi" "TURON-IQBOL"
Toshkent—2010

B) yours C) your
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5. Choose the correct answer.

It is often ... to look for solutions than run
away from your problems.

A) easier B) most easy C) easiest
D) more easier

To solve this test, one should know the rule
of the adjective, the degrees of comparison:
the positive, comparative and superlative
degrees of the adjective. Answer A is a
correct answer because in the phrase there
is an indicator word than, which means one
should use the adjective in the comparative
degree.

Correct answer: A

Source: Lutfullo Jo‘rayev, Svetlana Xan
"New Fly High English 5-sinf uchun
darslik" "O‘QITUVCHI" Toshkent—2017;
M.G*apporov, R.Qosimova "Ingliz tili
grammatikasi" "TURON-IQBOL"
Toshkent—2010

. Choose the correct answer.

Yesterday I had to work so ... that even
now [ feel ... .

A) hardly/tiring  B) hard/tiring

C) hardly/tired D) hard/tired

In order to solve this test, one is supposed
to know the use of the adverb and some
verbs that are used with adjectives.

As a rule, we form some adverbs by adding
-ly to the adjectives: easy — easily, slow —
slowly. But some adjectives like hard, near
may also be used as adverbs. If we add -ly
to them, the meaning changes. For example:
I work hard. I hardly ever see him.

As a rule, one uses adjectives after the verbs
such as feel, taste, sound, smell, look,
seem. For example: The perfume smells
good.

Correct answer: D

Source: M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010

7. Choose the correct answer.
They ... in the river at present.

A) are not swimming B) did not swim
C) was not swimming
D) were not swimming

To solve this test, one should know the use
of Tenses. The presence of signal words in a
sentence may help us to choose the right
Tense. In this case, we have at present,
which means the action is being
accomplished for the time being. The
answer A is a correct answer because the
verb is in Present Continuous Tense.
Correct answer: A

Source: Lutfullo Jo‘rayev, Svetlana Xan
"New Fly High English 5-sinf uchun
darslik" "O‘QITUVCHI" Toshkent—2017;
M.G‘apporov, R.Qosimova "Ingliz tili
grammatikasi" "TURON-IQBOL"
Toshkent—2010

8. Choose the correct answer.
By the end of the year they ... English for
2 years.

A) will learn  B) will be learning
C) will have been learning
D) are learning

In order to solve this test, we must know
the use of Tenses. The presence of signal
words in sentences helps us to choose the
right Tense. In this case, we have by and
for, which are usually used with Perfect
and Perfect Continuous Tenses. The answer
C is correct because the verb is used in
Future Perfect Continuous. Future Perfect
Continuous is used for the action that
begins before a moment in the future and
will still be in process by that moment.
Correct answer: C

Source: F.Rashidova "English 10-sinf
uchun darslik" "O‘ZBEKISTON"
Toshkent—2017; M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010
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9.

10.

11.

12.

Choose the correct answer.

Hurry up! I don’t want to risk ... the train.
A) to miss B) to missing C) missing
D) miss

To solve this test, we should know the usage
of Infinitive and Gerund after verbs.
According to the rule, we use Gerund after
the verb risk. The correct answer is C)
missing

Correct answer: C

Source: M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010

Choose the correct answer.
We have enough milk in the fridge so we ...
buy any more.

A) should B) needn’t
D) must

To solve this test, one should know the use
of modal verbs. The verb need in negative
form means there is no necessity to do
something. According to the context of this
sentence there is no necessity to buy milk.
Correct answer: B

Source: M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010

C) can’t

Choose the correct answer.
He succeeded ... being promoted.

A)in B)on C)for D) before

In order to solve this test, one is supposed
to know the use of prepositions and some
verbs that are used with prepositions. As a
rule, after the verb succeed is used in +
Gerund. The correct answer is the answer
A.

Correct answer: A

Source: M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010

Choose the correct answer.
I wonder if you could ... me a small favour.

A) make B)do C) fil

In order to solve this test, one is supposed
to know the expression to do somebody a
favour, which means to do an act of
kindness beyond what is due or usual. The
answer B is correct.

Correct answer: B

D) create

13.

14.

Choose the correct answer.
— I like to attend evening lectures, and
what about you, Feruza?

A)So doI B) So does she
C) Neither doI D) She likes too

To solve this test, one should know the use
of auxiliary verbs in short answers
(sentences). As the first sentence is
affirmative, the short answer is used with
so. Negative short answers are used with
neither or nor. Besides this, we should
pay attention to the word order and the
person which is referred to. In this case, the
answer A is a correct answer.

Correct answer: A

Source: M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010

Choose the correct answer.
"Do you play rugby?" said Peter.

A) Peter wondered if I played rugby.
B) Peter wonders if you play rugby:.

C) Peter wondered if I had played rugby.
D) Peter asked if I was playing rugby:.

In order to solve this test, one should know
the rule of Direct/Indirect Speech. When
we turn Direct Speech into Indirect, some
changes are usually necessary. Indirect
Speech is usually introduced by a verb in
the Past Tense. Verbs in the Direct Speech
must be changed into a corresponding past
tense. Present Simple changes into Past
Simple.

Correct answer: A

Source: Lutfullo Jo‘rayev, Svetlana Xan
"New Fly High English 8-sinf uchun
darslik" "O‘QITUVCHI" Toshkent—2014;
M.G‘apporov, R.Qosimova "Ingliz tili
grammatikasi" "TURON-IQBOL"
Toshkent—2010
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15.

16.

Choose the correct answer.
Would you mind if I ... your book?

A) borrowed

B) borrows

C) had borrowed
)

D) would borrowed

To solve this test, one must know the rule
of Conditionals. Conditional sentences have

two parts: the if-clause and the main clause.

If the verb in the main clause is used in the
form of would+verb, the verb in the
if-clause must be in the Past Simple (apart
from mixed Conditionals). According to the
rule, the sentence after Would you mind
if is used in the Past Simple. The correct
answer is A.

Correct answer: A

Source: Lutfullo Jo‘rayev, Svetlana Xan
"New Fly High English 8-sinf uchun
darslik" "O‘QITUVCHI" Toshkent—2014;
M.G*apporov, R.Qosimova "Ingliz tili
grammatikasi" "TURON-IQBOL"
Toshkent—2010

Choose the correct answer.
You annoy me because you don’t listen to
what I say. I wish you ... to what I say.

A) would listen  B) will listen
C) listen D) are listening

To solve this test, one must know the rule
of Conditionals. Wish sentences are used
like Present unreal conditionals: If I were
rich, I would be very happy. In some cases,
we use would after wish sentences when
we want something to happen or somebody
to do something.

Correct answer: A

Source: M.G‘apporov, R.Qosimova
"Ingliz tili grammatikasi"

"TURON-IQBOL" Toshkent—2010

17. From the marked areas 1, 2, 3 and 4, identify
the one that is wrong.
University (1) students will have (2) no
problem (3) finding an accommodation (4).
Ay4 B)2 C)3 D)1
In order to solve this test, one should have a
wide range of knowledge on nouns, sentence
order, subject and verb agreement, infinitive
and gerund, word usage, etc. Here are given
four underlined marked areas. You should
identify and choose from the marked areas
1, 2, 3 and 4 which one is incorrect. As a
rule, the word accommodation is an
uncountable noun and it is used without
article. The marked area
an accommodation (4) is incorrect.
Correct answer: A
Source: M.G‘apporov, R.Qosimova

"Ingliz tili grammatikasi"
"TURON-IQBOL" Toshkent—2010

18. Choose the correct answer.
At Heathrow airport we heard that the ...
was delayed.
A) flight
D) books
To solve this test, one should possess the
vocabulary to some extent. According to
the context of the sentence, we may guess
that it is about airport related action. The
word delay is used with the word flight:
delay the flight. The correct answer is A.
Correct answer: A
Source: F.Rashidova "English 11-sinf
uchun darslik" "O‘ZBEKISTON"
Toshkent—2018

B) pencils  C) desks
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19. Choose the correct answer.

Which statement fits the picture best?

A) I have just put all the clothes in washing
machine.

B) I wish I had a washing machine. I am
tired of washing by hand.

C) Where is the soap? I can’t begin the
washing!

D) I spend less time on washing than I
used to wash by hand.

It is an analytical thinking related test. In
order to solve this test, one should first
analyze the picture thoroughly, then find
the sentence that logically fits the picture
best. The correct answer is D. The woman
used to wash by hand, which took more
time. Now she spends less time because she
uses a washing machine.

Correct answer: D

Read the text and answer the questions
according to it.

Once a young man went to town and
bought a pair of trousers. When he got
home, he went upstairs to his bedroom and
put them on. He found that they were too
long. He went downstairs, where his mother
and two sisters were washing up in the
kitchen. "These new trousers need
shortening by five centimeters," he said.
They were busy and none of them said
anything. When his mother finished
washing up, she made the trousers shorter
by five centimeters and didn’t say anything
to her daughters. After supper the elder
sister remembered her brother’s request.
She shortened the trousers by five
centimeters and said nothing to anybody.
The younger sister also went upstairs and
took five centimeters off the legs of the new
trousers. You can imagine the boy’s face
when he put the trousers on the next
morning.

A pair of trousers

20. What is the passage mostly about?

A) Making new trousers short
B) Washing up in the kitchen

C) Working in the garden

D) Going to town for shopping

To do this task, one should read the text
attentively and find out what the text is
about. It is about how a man, who had
bought a pair of trousers, had his trousers
shortened. The answer A is correct.
Correct answer: A
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21. According to the passage, what did a young
man buy?

A) new bedroom
B) new trousers
C) new kitchen
D)

new Scissors

In order to do this task, one has to read the
text attentively. It is asked to find out what
was bought by a young man. The young
man bought a pair of trousers.

Correct answer: B

22. According to the passage, who shortened the
young man's trousers second?
A) his mother
B)
C) his younger sister
D) he himself

his elder sister

In order to do this task, one should read the
text attentively and follow the succession of
events in the text. The young man’s
trousers were shortened three times: the
first time by his mother, the second time by
his elder sister and the last time by his
younger sister. The right answer is B.
Correct answer: B

23. According to the passage, how long did all of
them take off the legs of the new trousers?

A) five centimeters
B)
C) fifteen centimeters
D)

ten centimeters

twenty centimeters

To solve this test, one should read the text
carefully. In the question, it is asked how
long was taken off the legs of the trousers.
In the passage, it is said that the trousers
were shortened three times by 5
centimeters. Thus, they took off 15
centimeters. The correct answer is C.
Correct answer: C

Read the text and answer the questions
according to it.

One night there was a woman at the
airport who had to wait for several hours
before catching her next flight. While she
waited, she bought a book and a pack of
biscuits to spend the time. She looked for a
place to sit and waited. She was deep into
her book, when suddenly she realized that
there was a young man sitting next to her
who was stretching his hand, and taking
biscuits lying between them. He started to
eat them one by one. The woman ate the
biscuits and watched the clock, while the
young man was also finishing them. The
woman started to get really angry. Every
time she ate a biscuit, he had one too. She
had never met anybody like him. She took
her bags and went towards the boarding
gate. After boarding the plane, she looked
into her bag. She was surprised to find her
pack of biscuits inside.

oRIGINAL REC/p,

A pack of biscuits
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24.

25.

What is the passage mostly about?

A) An incident at the airport
B) A book from a stranger

C) A very interesting book

D) A usual flight

In order to do this task, one has to read the
text thoroughly. In the question it is asked
what the passage is mostly about. After
reading the whole passage one can
understand that it is not about a book
because the word book is mentioned two
times in the text and it is not relevant. And
the text is not about a flight at all because
almost the whole story occurs in the waiting
space. The correct answer is A. It is mostly
about the incident which happened between
the woman and man.

Correct answer: A

According to the passage, whose biscuits were
they eating?

A) the woman’s

B) the young man’s
C) no one’s

D) everyone’s

To be able to do this task, one should read
the text attentively. In the question, it is
asked whose biscuits the woman and the
man were eating. At the end of the text, it
is said that the woman got surprised
because she found her pack of biscuits in
her bag. She ate the man’s biscuits instead
of hers. The correct answer is B.

Correct answer: B

26. According to the passage when was the

woman astonished?

A) When she found her biscuits.
B) When she lost her books.
C) When she forgot her tickets.

)

D) When she threw her bags.

To do this task, one should read the text
carefully. It is asked when the woman was
astonished. At the end of the text, it is
stated that the woman was surprised to find
the pack of biscuits in her bag. The correct
answer is A.

Correct answer: A

Read the text and answer the questions
according to it.

There is an island between Myanmar
and Indonesia. It is called North Sentinel
[sland. In fact, the Sentinelese people know
almost nothing of the outside world. They
have never seen a cell phone, a car or even a
book. It is believed that the Sentinelese
first came to the island around 60,000 years
ago from Africa. Over the years, people
from the outside have tried to visit the
island, but each time they have been met by
attacks. The Sentinelese do not welcome
any kind of contact with the outside world.
Because of this, we know little about them.
We know nothing about their culture, their
language or even how many the population
of the island is. There could be only 40 or
as many as 400. The island is under the
control of India now and the Indian Navy
maintains a 5-kilometer zone around the
island, which makes it practically
impossible for anyone to get to the island.

CHINA

INDIA
MYANMAR

BANGLADESH LAOS
Bay of
Bengal THAILAND
Andaman
Islands
North ©
Sentinel

MALAYSIA

INDONESIA

——
400 MILES SINGAPORE —!
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27. All the following statements are FALSE,

28.

EXCEPT ...

A) The Sentinelese people settled down in
the island about 60 centuries ago.

B) Scientists carried out much research on
the Sentinelese people.

C) People are in good relationship with the
Sentinelese people.

D) The Sentinelese people may have
been originated from another
continent.

In order to do this task, one has to read the
text attentively. The answer D is a correct
answer because in the text it is said, "It is
believed that the Sentinelese first
came to the island around 60,000
years ago from Africa".

Correct answer: D

According to the passage, why do people
know little about the Sentinelese?

A) They are always attacked by sailors.

B) They are not friendly to outsiders.
C) They speak difficult French.

D) They live in far side of the island.

To do this task, one should read the text
carefully. The answer B is correct because
in the text it is stated, "Over the years,
people from the outside have tried to
visit the island, but each time they
have been met by attack". This proves
that the Sentinelese people are not friendly
to other people.

Correct answer: B

29.

30.

According to the passage which country rules
North Sentinel Island now?

A) Africa
B) Myanmar
C) Indonesia
D) India

In order to do this task, one should
understand the main points of the text. In
the question, it is asked which country rules
North Sentinel Island now. In the text, it is
said that this island is under control of
India. The answer D is correct.

Correct answer: D

What is another factor that makes this island
inaccessible to outsiders?

A) The language of this people

B) The Indian attackers

C) The Indian military ships
)

D) The number of visitors

To do this task, one should understand the
main points of the text. In the question, it
is asked what is another factor that makes
this island inaccessible to outsiders. In the
text, it is said that the Indian Navy
maintains a 5-kilometer zone around the
island, which makes practically impossible
for anyone to get to the island.

Correct answer: C



